SuMPO EPD SUMPOIRIESAINTOT 5 L

SuMPO

E p D _ —MHEREAY AT TR E HEE R
‘o AAAAA S4TNEBIEEE (EPD) AT R EX A 1-14-8
VERIFIED KANDA SQUARE GATE
E&ES ¢ JR-BO-24001E-C https://ecoleaf-label jp

4 NIPPON STEEL X7 ULRERK(TISA+HR-TILTUHALR)

BARskted Stainless Steel (Ferritic * Martensitic)

HEHEN ERES JR-BO-24001E-C
" EAPCRES PA-187000-BO-03
PCR#% ATYLASE (b)) [535R]
HE N RERFE 2AFA 2024118258
CE#RE4 m hREE4 REEEEH 20245108110
FHEERPE (RMRIERE. R Rl0EX, RoOEE) RIEA B R BIREE A =
RILES JV-BO-24001
RIEEZHAM 20294108108
HEOBEKX, TEL&K-FE PCRLE1-DEE
FHET A M ILORERFR, BREARERPR ZFERAZE 20234£284H
FRRHE : JIS (AAEZEFR) . ASTM. ASME £8E LE &
BARSAIE XEHIIOME(CECHK — R R A AT F IR HE
AR« . AR, KRAA, PR E=ERE
FRIRE (BEAImm. t =ARE) t=0.1~9.0 NEMRITE W ER
ERBE (BfImm. ¢=B) ¢ =5.5~60 ISO140255&01S021930(C > - A E = R UF - DIAILL I
T&REE
ORER AR
BWEDHE % 27 ARIE B FEANORTEOB AL, VAT ARTETLBEED
BARBHRSE  RF> LRI ARIEH

AT L AEEE

https://www.nipponsteel.com/

Z5&ES © JR-BO-24001E-C


https://www.nipponsteel.com/

SuMPO

EPD

AAAAA

VERIFIED

SuMPO EPD
1T NREE

(=]

(EPD)

Z#H&ES ¢ JR-BO-24001E-C

OF17Y1 )V REEF TSR

SUMPOEBRIEININTOIT A
— A EIEAY AT F IR S A
ERETREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 4400 | kg-CO2eq
[7ye(e 44 | kg-SOzeq
HAFEAFIIVE 0.081 | kg-CzHaeq
AT 3PN-RYIybTUVFOREICEIL T w (A1) EHHIEE w2 EHEOHE  #(A3] REORE
[(®-1.20M0REEERR EX TSRO,
=H IEH Bif a3 (A1) BEHRERE | (A2] RO | [A3] HEORE
SURZE) IPCC 2013 GWP 100a| kg-CO.eq | 4.4E+03 || 3.3E+03 | 2.3E+01 1.1E+03
AV EBRRIE kg-CFC-11eq| 1.6E-04 1.6E-04 1.9E-10 1.9E-06
7424 kg-SO.eq | 4.4E+00 3.0E+00 9.2E-02 1.4E+00
HAFAFIIV kg-CoHseq | 8.1E-02 3.2E-02 5.3E-04 4.9E-02
EXREL kg-PO.*eq| 2.9E-01 8.5E-05 1.6E-13 2.8E-01
@) = © v B ([CRHd A1
IEH B “H-9E (ERES) Bifif
FEBEAEER 3.2E+02 kg &% [C] =04 %
FEFERREIRILF- 5.9E+04 MJ T4 % [Si] =30 %
BAERRRER 6.5E+02 kg YVAY Mn] =20 %
BEATREIRILF- 1.4E+03 MJ U [P] =0.15 %
HKIKDBEE 1.2E+01 m? B [S] =04 %
Z94)b [Ni] =25 %
@B B [55 £h 20L [Cr] =31 %
IHH -2 TUITY [Mo] =40 %
BEEEY 0.0E+00 kg 8 [Cu] =20 %
mERZEY 4.1E+01 kg Z#7 [Nb] =1.0 %
KIMTHAINCBIBEENBERLTVET, FA YV [Ti] =1.0 %
TIVIZUL [Al] =6.0 %
AZ [Sn] =10 %
2% [N] =0.12 %
X [Fel =65 %




cmro  SUMPO EPD
N .‘.E PD s 7umis==s (epD)
Zi%&ES . JR-BO-24001E-C

SUMPOBRIESANIN IO
— A FE A Y AT T IR S HE

RRETHHEXAFE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

OBEERRCEIT ZEMIER

DEROEX Y TUAIIPCRICHE STz, TIHMEX(ILE FEXESE XY I CEHAIL TR,

AARY-+ L QMBI RUMEICRETAEHRA DT ONT, SEUA I REGBZMMBIRIBEDE LRIEDIE. RADEDETRT, #%
DR E, OBRA D DLLETHAESINS,

3)—RT-HIE 2022 EDEREEHFER L, EHREAIIIEN, —MEIEEE 10T, 2014FE |2 EALE,
HETERRIL, ER, FROMEFIIETHZ,

SN BURCARE) M LB BEEATNEL,

©-1.ZDMDIRFEEIE IR

ISO1400158E LI CHLEL TS,
[SUEZB) IPCC2013 GWP100al [CBI9 255 % ¢
AREROBAEND, ZOEBOAI-T3H7IV- 1 OGHGHIHEZEEI2H AP, AERZANTRIE TR GON- KTV
YMEETESIHEICIE U TOURLELRTRERTEIL,
https://www.nipponsteel.com/product/cfp/certificate.html
(EZRURLOAA(E, EPDORREET S )

IEH CAS No. ENE
VA 7439-96-5 FEREEEEETS
3R 7440-50-8 HEREHEEETS
704 7440-47-3 /A EEITS
vl 7440-02-0 HEREHEEETS

OERLEZRT-9DEZH
IDEA v2.1.3 Z{FERALT,

OJISHHE 1 IS G 4303 (ATYLAIHHE) | JIS G 4304 (BAEIEIEAT YL ASAR KR UHH) | JIS G 4305 CHRIEZERTYLASIR
RUSHH) (IS G 4308 (AT VL ASH#REM)

OASTM A240/A240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip
for Pressure Vessels and for General Applications)

OASME BPVC. Il .A SA-240/SA-240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate,
Sheet, and Strip for Pressure Vessels and for General Applications)

O BABEKRIE © BERT YV AERR. BERAT Y VAERR. ATV L AMER. A7V AR R

‘202548 HABEBICHVELSYM b ERRBEELELR,

2025118 FUWaEhEEL EHREL.

-2026F4 A 1B[®-1.20MOREEEIER | (LA RATER

OT-YETENH LR PCRELVEE - EERBESRL LA,
OLLEIIOVWTE, EE - EERBICRESNEZHERILILHECLIRHONEEA,
(BBR5URL ! https://ecoleaf-label jp/regulation/)
FiF&ES © JR-BO-24001E-C



